| Efficiency vs Dxy |

> 0.1
Pad
i®)
.09
>
3.08
D
D.07
©
0.06
0.05
0.04
0.03
0.02
0.01

........................................................................

........................................................................

o+

Rati

1

IIII.IIII.IIII.IIII|||i*.lIiIIII.IIII.IIII.IIII
........................... NP 3 S U S SR

&

0.95

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_mkFit_TT _retrain

N 0.1
©
9.09
oy
oo
(&)
.07
(D)
0.06
0.05
0.04
0.03
0.02
0.01
o+

Rati

1

0.95

0.9

—e— DQM_mKkFit_TTold

- T T TR [REREEEE [EEEES (ERTTTS PEPREEFEE
_I 11 1 I 11 1 1 11 1 1 I 11 1 1 11 1 |
- e
L L]

10 20 30
TP dz (cm)




	Contents
	Page 1


